Find ﬁh@ center and the foci for £
each problem will match a letter that will g
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1 9+12_1

2 BoPF ek

| 3. 4x+22+72=28

4. BZ 4y 4 6x =6
5. %%+ 4P~ 16y = 4

6. X* +12% + By? + B0y = 1

7. 22+ By? —16x + 12y = -20

8.»7x2+ 2y* + 20y = 6

he following ellipses. The answer to
ow you to figure out the joke.

T:
V:

H:

C(-1, O): F(-1, =3)
C(4, -2); F(6,-2) & (2, -2)

C(0, 2); F(xV15, 0)

: C(6, 3); F(1, -3) & (14, 5)

: C(O, oj; F(O, xV3)

: C(-1, 0); F(-1, +VB)

: C(0, -5); F(O, -5+2V5)

: C(b, 2); F(s5, 0)

: C(-6, -3); F(2, -3) &‘(44,,—5)' ‘
+ C(3, -2); F(3, -2+V3)

1 C(-2, 0); F(-2, V)

C(-2, 0); F(-2+V3, 0)

: C(0, B); F(xVB, -5)

6 3 & 5 2 1 4
Answer:
Ellipsee: finding the center and the foci :
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: Wmt@ the followmg elhpaa equatlons in standard form. The answer to
each problem will match a letter that will allow you to figure out the joke

1. Center at the origin, x- mtercept is - 2P
=4, y—mtercept isx3. - - R: Té"‘*’ o5 = =1
-2 _Ccnter at the origin, x-intercept is BT, Y ) G ) R
| +\/— B, y-intercept is +VZ. - | 21 ZoR
3. Center at the origin, foouéaﬁ (4, 0), | ) E: —3<~2~ » i: 1
'vert¢x at (6, O). - . 9 _
. , (x = 1)? 4
4. Foci at (0, £3), length of the major M: £X15 ) + W ; L. 1
‘axis is 10, : ‘
5. Foci at (£2, 0), length of thca minor RT
’ 'axxa i &. B _
el el el K:Qd2)2+(y_2)2=1
" 8. Center at (2, 2), vertex at (6 2), | 16 (=
focus at (5 2). o : o )LZ_
. | A 35+ 55=1
7. Ccnter at (-1, 5) vertex at( -1, 2)
Focue at (-1,1). ‘ : R: (x — 4)2 oy
‘ R 1&
- 8, Foca at (4, 3) and (4, -3), vertex at . _
(1.0). |  (x=5)? &*5)2_
‘ | | o ‘ 5:;. 6 too4 = 1
9. Vertex (1,5), (9.5), (5,7), and (5, 3). 5 )
S _ . T X L_']
. : - 15 97
10. Centsr at (1, -4), focue at (4 -4), :
~ length of minor axis i 4. . B: L 2)2 (y=2)° -
' 20 27
& 2 7 4 6 70 3 & 6 1 "5

Ellipsee: writing equations -

Answer:




